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2b The number of bus trips per day made by each type of 
bus of the 2 companies. 
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2ci 3BA exists because B is a 1x3 matrix and A is a 3x1 
matrix 
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2cii The elements in this 1x2 matrix represents the total 
number of bus trips made by Company A and B 
respectively. 
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The shopkeeper made a gain. 
 
 

 
 
 
M1 (oe) 
 
A1 

9bi 800
x

 

 

B1 

9bii 800( 2)( 2)x
x

− +  

 

B1 (ecf) 

9biii 

2

2

800( 2)( 2) 800 99

1600800 2 4 800 99

1600 2 103 0

2 103 1600 0

2 103 1600 0 ( )

x
x

x
x

x
x
x x

x x shown

− + − =

+ − − − =

− − =

− − + =

+ − =

 

 

 
M1 (ecf) 
 
M1 
 
 
 
 
 
A1 
 
 

9biv 2

2

2 103 1600 0

103 103 4(2)( 1600)
2(2)

12.5 64

x x

x

x or

+ − =

− ± − −
=

= −

 

 
 
 
 

 
 
M1 (oe) 
 
 
A1/A1 

9bv 800 2 62
12.5

− =  

 
 
 
 
 
 
 
 

 
B1 

   



10 
 

10ai (1107.8 1066.3 1123.6 1259 1249.5 1281.6)
6

7087.8 1181.3
6

kWh

+ + + + +

= =
 

M1 
 
A1  

10aii) 
1181.3 $0.2139

$252.68007

$252.68007 1.07
$270.3676749

$270.37 (3 )

Amount without GST

Amount with GST

sf

= ×
=

= ×
=

=

 

 
M1 (ecf) 
 
 
 
 
A1 

10b)  
  Total number  

solar panels 
9 1.65 5.4545...

5

÷ =

≈
 

4 1 4÷ =  5 4 20× =  

9 1 9÷ =  4 1.65 2.4242...

2

÷ =

≈
 

9 2 18× =  

 
The max number of solar panels is 20. 
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183.40 52.08

$235.48 ( $270.37 )from aii

= +

= <
 

 
Since the average amount paid by Mr Tan after 
installing the solar panels will be less than what he is 
currently paying, he should go ahead and install the 
solar panels. 
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